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f&xX 4848 (L) 8:45~ EHKIE

1 A H £1:#£10:00 FE2i8E512:30 3 FAEK 15
484B(X) |HEXE X EXEE ZERE X BEEXRFE

1 BRI
485H(H) |E2EXE x ZFXF AXESE * HEXFE
AB1MBE (LX) |SHEXE x BE2fEXFE ZEXF x mMATHXE

2 BRI
48128 (H) |MEBWXE xt =ZFKF BEEXRE X HEXFE
4818H (1) |[#EXZE x HMBAWKXE BEEXRE x AXKSHE

3 Tirbki5
4819H (H) [[EXEE x E2fEXF MATXKE xt HEXFE
48258 (1) [ZEXF X ERKEE MATKE xt EBfEXF

4 Tirbki5
48268 (H) |BE2EXE x HAHWKE [HAAXAEE X =ZFEKXF
5H2B () |#HEXE xt ZFEXF MATKE x AXKESE

5 ¥ARREK 15
5A3H(B) |MHEAEE xf MAmMKE ZEFKRE X HEXE

FiE B 48298 (OK) RiRIki5
5A5B (X)68 (JK)9B (£)108 (B) #FrEBkiE
58168 (X)178(A) E= 4R EkIG
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